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Calculating The Interquartile Range

Example:
Median X
X .
minimum Q1 (QZ) Q3 maximum
I 25%, 25% 25% 25%, |
12 30 45 57 70
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I 1l
Interquartile range
=57 -30=27
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2l ( mode)
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EilgFE98L (arithmetic mean )
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# R F198(truncated mean) X,
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#1921 ( geometric mean )
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EHREES B ~ 2B (range)

R = Xmax — Xmin
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BEBESE ~ o[ o=

(interquartile-rang, IQR) (quartile deviation, Q.D.)
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EH R ES R ~ FI9E

(mean absolute deviation, MAD)
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HE R ES R ~ B RIARE]

(coefficient of variation)

TEAEA o
CV'= Tige x 100%

HEBEEZSE
MAERE NG R ARE N AR
IR RIHEALLRZEZZ K/ NI




EHEESE ~ 27

(standardize value)
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g E (kurtosis)

1 N
v Ixi-wt M,

b2 = i

mREDHECRY B, & 3

Sharper Peak
Than Bell-Shaped

SIE B, > 3 i
=) p> o Leptokurtic (Kurtosis > 0)

Mesokurtic Bell-Shaped
(Kurtosis = 0)

Platykurtic Flatter Than
Bell-Shaped

KFALE B, < 3/\ (Kurtosis < 0)







